a(d0y) (um) for PV Ratio o(0 X) (Um) tor PV

Ratio

0(0 z) (um) tor PV

10?

G(0 X) (um)

10

1.UD!

""" Wﬂ###ﬂ

10 15 20 05 =i5=10 50 5 10 15 20
Vertex z (cm) Vertex z (cm)

Ratio

a(0 x) tor merged vertices (um)

Ratio

B0 -5 -10 =5 0 5 10 15 20

M_mKFEit_TT JanUpdate-noErr

DQM_MRE_T Toriginal
éM:mkFlth:JanUpdate-noErrlH

o(0y) (um)

Ratio

Funs

e

2015 -10 -5 0 5 10 15 20 O =15=10 50 5 10 15 20
Vertex z (cm) Vertex z (cm)

10%|

0(0 2) (Um)
B
<

10?

10|

Ratio
P

-20 -15 -10 -5 0 5 10 15 20 50 15 -10 I 15 20
Vertex z (cm) Vertex z (cm)

0(0 y) tor merged vertices (Um)

Ratio

0(0 z) tor merged vertices (Um)

Ratio

iy

TR FEEEE FAETI FEETE FEETE FEETE PR SR
o

0.95/

10°E

10%

5 10 15 20

Vertex z (cm)



	Contents
	Page 1


